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1. Simplify the following:
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Chapter 6 Assisnment
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(b) cot® xsin® x+cos® x
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2. Express 2cos” 4x—2sin* 4x as a single trigonometric function. {,.
cosix = cos*x - sintx.
=02c0s2(4x) ' ,- '
: Zco;?’;:). —
3. Simplify the following:.
Sine (2) cos(cx+90°) o) sin(iz’-—e)
w = 005 €0550° - sinotsin 90’ = sin 2~ cos® - cost ein @
/v ’ . : _
= (DS - (smG-

cost (0) - Sinot (1)

(1]

' WM : - sinet o = @ose D)
. L . . » ) “\ml»\J

cos|ne

4. ¥ sinf =a and 0<6 <—72£, determine an expression for cos(z +6).
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. . . [_._.'\-r___;.._.k.;,\
’ ' 'quad, I
0s(TT +9) = 08T cosB —.8inTsmd
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5. If secd =——£ and —725 <0< 7, determine an expression for sin(@—r).
o5 .

cos® ° “% quod 2

S"V\(_e--:r) . sin@eosyr - cos®sinTe

BN " S
L \*f}\e N = R

-5 ‘
~
1 T * ' = (-1
3 +y” = 42 : _ (\?}
_ -
Y= Al | | |
y =12

6. Solve the following, accurate to 2 decimal places, for 0< 60 <2z

.Zsécz x+5secx—-3=0 \Q m = Sec X

| -

MY +5m-3% o l-l*——-
. : L+ 25
Zt'ti”j\'bm:- m-% =0
Im(m+3) « 1{mM-+2) ¢
C(mevyam-0) s 0 N
(S€CX+3)(zsecx-') =0 by
oseex = -3 = L S
. ‘Ser Y X) = l.m
cosx = -l cosx = 2
3 : X
R = TT-1.9} =
| b= 12310 .

no Soluhvor.
Xp = T+ 12310

X= d0s™'(=3) - 1.910b
Xy 437
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7. Solve for all possible solutions in radians

sin2x=2sinx

Zsinxcosx = 2sinx

25INX COSx- 23INX © O

2sinx {cosx - 1) = 0

2§n{¢ O coSx = ).

sthe= 0

™~

X= 0,7, 1w, ... :
8. Prove the following identities.

sin 268
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: =secf+tan @
®) l-sinf . .
| + sin0
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. : xSl
L . sin 8 +cos6)* y
(c) tan® x—sin® x=tan® xsin’® x (@ (———_—.———)—=csc20+1
. ' o sin 26
SIS , o
cos™x " ' (5@ +cus©) (s +cusd )
. | :
2sin0-cos@ |

!

cosy ‘ _ siNt0 + smOcosh + |
. smn§cosd +eosd

Sihtx = sint¥ Costt |

- sintx (1= cosy ) '
2¢in@ cosd-

- doste | :
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9. State all the restrictions for the following:
cotd osch nom . 0se@ = -
(@ —— . ®) : _ SIinG
1-sind cosd .
cos®O SIH.@ ]
numeredor . COFQ = Tohrg 8¢ h, netT
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' ° - cos® -
10. State the restrictions forizc— if0<0<2x. z .3-117
~ 4sin® &1 :
. denem ¢ 4sin*@ -\ > (2510 -1)(23m0 +1) = O
Pres L [ J' :
no = L ’ : -1
SInG - > siné s
! eR = I
6
d !
E e e
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( R O R
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e .

11. Verify sin @ +cos § cot =cscd for 6=30°. 1

SIn30° + €0s30°.c0430° = csc30° _
.
L +(§‘__§(ﬁ)‘l o
z - 2 i _ (' i .
1 4 N '
T T '
2 !
Loy 2 s
T 2
§
4
2
- '2_
v’

LHS - RHS



